Installation Instructions
Aluminium SC100 Pole

Large Flat x 1

ol T Tools Requwed\ 6:@
oOle lop No. 3 Posidrive x 1
13mmx 2 6 & 8mm dia. x1
2 10mm x 2 SN

Pole Top

—— 7N

e

=
SN

17421 - 1.8m Pole
17420 - 2.4m Pole

17103 - Top Plate for Raymarine, Garmin 60100 - Pole Top Fastening Pack m

and Simrad, Lowrance [Navico] BR24

17101 - UmversaITop Plate
17108 - Small Satcom Top Plate EMMM @

Pole
60621 0702 60060 60068
M6x22 Bolt M6 Nylon Washer M6 Nyloc Nut M6 NL;('&Cover
%
‘ q
19308 - 1200mm Deck Strut k&“
; ‘.
O ANAY O \ y
D} ~ R
10451
10455 .
Adjustable Strut 1200mm Adjustable Strut Base 5,1, 1 Ciamp Clan:(g Seal
@ —
Y 0 e
ok 60702 60060
y 60621 610635
@a M6x20 Bolt M6 NyIc;(rZ‘Washer Mé N))/(I;)c Nut M6x32 Bolt M6 NL;(t6Cover
x3 X

19310 - 25mm Rail Standoff @
/\—
‘ 60702
M6 Nylor12Washer
3"Tube Clamp x
. 10460
25mm Rail 1”Rail Clamp
Standoff - @g w
60621 60060 60068
10462
M6X)2((6) Bolt M6 N)Qgc Nut M6 N)L('thcover Standoff Plate
19301 - Adjustable SC100 Base il
T | =
60080 Loctite 243 —
6400 M8 Nyloc Nut —
M8 Nylon Shoulder X3 —
Washer 60085 —
X3 ; M8 Washer —
1200mm —
Deck Strut j} —
: M35 Bol
60702 60616 3 olt
e M6 NyIc;(erasher Méx16 E?;n Head X
Adjustable SC100 Base 17301 60860
SC100 Adjustable base M8x60 C53t< Slotted
X

SCANSTRUT

INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS


https://www.boatid.com/scanstrut/

o)

P9

—

o - \j

g

/=g
88 T
9928 @6,

' 8x60702

\
4x 60068
4x 60621

4x 60060

4x60702

™~ 4x60616

- ::; ‘(rr(((((«










IMPORTANT

SC100 pole systems are only compatible with marine electronics devices as stated
in the latest Scanstrut Product Guide - subject to change without prior notice.
Use of the SC100 pole system with unapproved products, or overloading,
invalidates any product warranty.

No liability is accepted for damage caused by incorrect installation.

The installation and assembly must be regularly inspected for evidence of
damage or loose parts.

Product has been designed specifically for the mounting of approved marine ‘:’
electronics under normal boating conditions.

FIMEINS|




SC100 Pole Mount

S

SC100 Pole mounts:

SC101
SC102
SC103
SC104
SC105
SC106
SC107A

cover strip

1.9M
2.5M
1.9M
2.5M
1.9M
2.5M
2.5M

1200mm Strut

(as standard)

600mm, 900mm

and 1800mm also

available

Deck pad eye

SC101/1

3"x 1.9M Pole

Radome top

02 top shown

Max
164mm/6.4"

3" clamp

Adjustable base

T)]

o

" To fit 25mm/1" rail
(as standard)

32mm/1.25"rail
clamps also
available

Rail stand off

83mm/3.27"

64mm/2.52"

SCANSTRUT.

INSTALLATION SOLUTIONS FOR MARINE ELECTRONICS™



SC105/6-45/45R Pole Mount

Product Configurations:

SC105-45 (1.9m pole)
SC105-45R (1.9m pole)
SC106-45 (2.5m pole)
SC106-45R (2.5m pole)

cover strip

1800mm Strut

LS _

SC45/SC45R Satcom Adapter

Universal Top Casting

3"x1.9/2.5M Pole

3" clamp

83mm/3.27"

Adjustable base .- / Adjustable base

64mm/2.52"

Deck pad eye



[9.43]
239.46

[5.57]
141.50

[9.17]
233

[10.94]

277.91

SCANSTRUT

DESIGN COPYRIGHT OF SCANSTRUT LTD

SCALE:1:2 A4 DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED: GENERAL TOLERANCES: +0.1

DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
IF IN DOUBT PLEASE ASK

TITLE: $C101/2 Radar Mount Plate Dims

PART NO. REVISION

DRAWN DATE

SHEET 1 OF 3




[7.88]
200.26
[6.29]
159.81
[5.57]
141.42

/

—

i

[5.57]

141.42

[6.29]

159.81

[7.89]

200.51

SCANSTRUT

DESIGN COPYRIGHT OF SCANSTRUT LTD

SCALE:1:2 A4 DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED: GENERAL TOLERANCES: +0.1

DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
IF IN DOUBT PLEASE ASK

TITLE: SC103/4 Radar Mount Plate Dims

PART NO. REVISION

DRAWN DATE

SHEET 2 OF 3




[3.94]

[0.33]

4 OFF 8.50

[6.42]

163 SQUARE

[5.68]

144.20 SQUARE

4 OFF ©6.50

().
U

vy

a
A4

—

.63.
[3.25]
82.50
[6.91]
175.40

_

&

@4

] T
w
[a'
<
2
(%] %% —+
5 .
S
|
j pi ==
/ D). _I_ D)
& \4
[0.26] /ﬁ T T
4 OFF_©6.50 ~ -D-
P—
[5.63]
143
[6.91]
175.40

[8.05]

204.41 SQUARE

SCANSTRUT

DESIGN COPYRIGHT OF SCANSTRUT LTD

SCALE:1:3 A4 DO NOT SCALE DRAWING

UNLESS OTHERWISE SPECIFIED: GENERAL TOLERANCES: +0.1

DIMENSIONS ARE IN MILLIMETERS UNLESS OTHERWISE STATED.
IF IN DOUBT PLEASE ASK

TITLE: $C105-6 Top

PART NO. 10108 REVISION C

DRAWN JK DATE 19-08-09

SHEET 3 OF 3

Learn more about marine antennas we have.



https://www.boatid.com/antennas.html

	sc105-installation-instructions
	sc105-installation-instructions-2

